ALGEBRA I Quiz 2.1
1. What pair of numbers satisfy the statement: the difference of two numbers is more than 10?  Graph the solutions set.






(3 points)
[image: image1.png]Jim sells mobile phones and tablets. Jim must earn at least $3,000
per month. He earns s30 profit for each mobile phone and s50 profit for
each tablet. He has space in his inventory foronly1oo total items and
must have at least 20 tablets. Let x represent the number of mobile
phones Jim sells and y represent the number of tablets Jim sells
Write and graph a system of linear inequalities that represents the solution set

to Jim's situation.













(5 points)
2. Andy’s cab service charges a $4 fee plus $0.50 per mile.  His sister Mandy starts a rival business where she charges $0.75 per mile but does not charge a fee.  Graph both cost equations.  Does it make sense to use Andy’s cab service?  Explain.



(5 points)
[image: image2.png]Alocal citizen wants to fence a rectangular commusity garden. The width, ¥, of the garden should.
‘be less than the length, and the distance around should be no more than 380 ft.

a. Write a system of inequaities that models the possible dimensions of the garden.
b, Graph the system to show all possible solutions. (6 points)




3. Write an equivalent expression for (a)
(2w2 – 3w + 9) – 4w(w2+ 2w – 6)
(2 points)

    (b)
(x + y)(y – x + 5)


(3 points)

4. Solve for a:
a + b = 2ax






(2 points)
5. Five years from now, the sum of the ages of a woman and her daughter will be 40 years.  The difference in their present age is 24.  How old is her daughter now?

(3 points)
6. Find three consecutive odd numbers whose sum is 39.



(3 points)
7. A student scored 83 and 91 on her first two quizzes. Write and solve a compound inequality to find the possible values for a third quiz score that would give her an average between 85 and 90.
(3 points)   
10.

Use the map to answer the following. Show your work.

a. City contractors would like to build a library on a road that is parallel to Hope Road at the 

   indicated spot.  They will call that street Peach Street.  What is the equation on Peach Street?

b. City contractors would like to build a gym on a road that is perpendicular to Elm Street at the 

    indicated spot.  They will call that street Power Street.  What is the equation on Power Street?


(4 points)
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11.

Use graphs to solve the following equations.  Round to the nearest hundredth if necessary.
(a) -|x – 3.5| + 4 = 0.25x – 1 

(b) 3 – 2x = |x – 5|

(c) 2(1.5)x = 2 + 1.5x












(5 points)
MULTIPLE CHOICE


12.
Which of the following inequalities could be represented by the graph?
 
(1 point)



[image: image4.emf]0 1 2 3 4 5 6 7 8 0 –1 –2


I.
-3y < -15   or   y < 1

II.
5 < 2a + 3 < 13

III.
|x – 3| > 2




A.
I only

B.
I and II

C.
II and III
D.
I and III

13.
The ideal width of a safety belt strap for a certain automobile is 5 cm. An actual width can vary 
by at most 0.35 cm. Write and solve an absolute value inequality for the range of acceptable widths.








(2 points)


14.
Write an inequality for the graph:





(2 points)



       
                                     (A)



              (B)
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Solve the inequality.  Graph the solution.


 15.
-6x – 1 + 4 > 5
  OR
11 + x – 7 ≥ 2



    
(3 points)


                         3


    2



16.
3| 3 – 2 (x – 2) + 5 | < 6
   





(3 points)





